Problem Set 6 (PS6) due

Monday March. 5
6.11 6.19
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(D) ZP from continuity equation:

Dt
D ou ov ow
—£ = —p(—+ =)
Dt ox Oy Oz
4 2
—-<3+ G y
12 6y 4 2y

t ! X X
Answers to (a) and (b) do not degree:This

flowfield is not possible.(mass is not conserved.)
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V =-2x%+4xyj +3k
(a)

Cu + 6v+ W =—4x+4x+0=0
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.. Hence the flowfield is incompressible.
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u +v
= 0+ (-2x%)(~4xi + 4y)) + (4307)(4) + (3)(0)

Dt ot ox oy 0z
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(¢) Volume flux through area A= I (n-v)dA
S= Ij vdA = ” Axydxdz
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(d) dimension of volume flux=velocity xarea = -



